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Page    Printing 
39 Answers to Textbook Review 1 13 2 + 3 + 5 + 7 = 17 2008 
50 Answer to Textbook p. 33  3(h) 18 2008 

3(j) This problem has an error in the text and the 
problem as given in not appropriate. The answer to 
the problem in the text would be –89,928 and 
negative numbers have not yet been covered at this 
level.  
Change the problem to: 88 – 8 x 6 ÷ 3 – 80 ÷ 8 x 7 + 2 

2008 

185 Answers to Textbook pp. 104-107 22(c) 1
7  

2008 

246 Answers to Review 6 23(b) $1600  
247 Answers to Exercise 5, pp. 14-15 1 2 3 5 7 11 13 17 19 23 29 31 37 41 43 47 2008 
248 Answers to Review 1, pp. 20-21 1 3,000,000,000 +  400,000,000 + 90,000,000 + 

5,000,000 + 2000 + 90 + 1 
2008 

     
250 Answers to Exercise 1, pp. 46-49 1(b) 12

28
 

2008 

250 Answers to Exercise 1, pp. 46-49 5(b) 1 15 9 16, 5 , , 4 , 3
3 3 10 12

2008 

252 Answers to Exercise 10, pp. 66-67 2(g) 4 lb 12 oz 2008 
252 Answers to Exercise 11, pp. 68-69 1(a) 1
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252 Answers to Exercise 11, pp. 68-69 1(h) 3800 m 2008 
252 Answers to Exercise 12, pp. 68-69 1 2

3
2008 

255 Answers to Exercise 3, pp. 109-112 1 Last two triangles. 2008 
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